Yt (trailing)

1 do
o dy;(trailing)

dy( tralhng [p ]

[—2.6, —1.65]

[—1.65, —1.1]

[—1.1, —0.55]
[—0.55, 0]

[0,0.55]

[0.55,1.1]
[1.1,1.65]
[1.65,2.6]

(4.461 £ 0.08 + 0.233) x10~72
0.19 £ 0.002 & 0.006
0.296 + 0.002 £ 0.009
0.342 + 0.003 £ 0.007
0.34 £ 0.003 £ 0.013
0.301 + 0.003 + 0.008
0.195 4 0.002 £ 0.005

(4.423 4+ 0.076 + 0.201) x 1072

0.504 £ 0.009 + 0.048
2.151 = 0.021 = 0.15
3.351 £ 0.029 £ 0.209
3.86 £ 0.033 £ 0.253
3.845 £ 0.034 = 0.278
3.403 £+ 0.03 = 0.213
2.203 £ 0.021 £ 0.148
0.5 £ 0.009 £ 0.041



